SURE: =712 A
718 Al=ZEU9gA
7138 e Rk S #] 9 GCEEEE
FE o] A H i
Hol B o S i T A ol = AF=1)13 19 1 =7F(A—
ORI Atel At Atel Fdu e == A e 20239 (A) | 20229 (B) | TH(A-B)
3 51,180,007 46,536,619 4,643,388
= 48,562,925 44,403,074 4,159,851
SolUEZEFS 47,241,915 40,684,484 6,557,431
QAL L 47,421 43,105 4,316
A PAZE7 3} 30,206 29,090 1,116
FTIASTS 17,656 17,656 0
1L A qA-gds 13,802 13,802 0
7h S gAd 9,668
1) 998 210-01 |50,00091 X 30% % 23] = 3,000
2) A=A = 210-01 |4,0009 X 50%-= 200
3) A (duh 210-06 100,000 x 2% x 48] = 800
4) 1% 210—06 |14,000€ x 31 X 4A] 7k= 168
5) AlAdedxtz 210-07 |300,00091 x 14 x 23] = 600
6) A= 210-07 |700,000€1 x 2t} x 23] = 2,800
7) A &@n) 210-15 15,0009 X507 x 28] = 1,500
8) &9l 3 230-02 15,0009 x40 = 600
L= s R R S R <y 4,134
1) $ojgx 210-01 |50,0009) X 15%= 750
2) A2 A 2 210-01 [4,0009 X50%-= 200
3) At (L) 210—-06 |100,0009 % 27 = 200
4) 4w 210-06 |14,0009 x 31 x 24| 7k= 84
5) AJAelztz 210-07 |300,00091 x 14 x 23] = 600
6) = 210-07 |700,00091 x 1t x 23] = 1,400
7) 9] 3 230-02 |15,00091 X307 x 23] = 900
2. FYDARRA 73] 3,854 3,854 0
7h AT A Az 3,054
1) $98x 210-01 |50,0009 X 14F= 700
2) ZAEE (dyh 210-06 |100,0009 x 2% = 200
3) Y8 210—06 |14,0009 x3vf x 2= 84
4) A=A 7 210-07 |300,000¢ x 14 x 23] = 600
5) Fel A 210-07 |795,0009 x 1t}= 795
6) g3 230-02 |15,0009 x 9™ x 53] = 675
WS - Fold 2T e - AAALLE - wH AP - ndAdFLY




20234 (A)

2022 (B)

210-01

100,0009 X 8% =

800
800

11,334

10,514

210-01

210-06
210-06
210-07
210-15
230-02
210-01

210-01

210-06
210-06
210-06

210-01

210-06
210-06
210-06
230-02

50,0009 X 4F X 23] =

200,000 x 19 =
150,0009 x 17 =
700,000 x 2t X 23] =
20,0009 x 1507 =
15,000€ X107 x 23] =
230,0009 x 107 =

50,0009 X 4F X 23] =

160,000 X 178 X 1A]ZF X 23] =

90,0009 X 178 X 3A1 7k
14,0009 X 3ul X 5A| 2=

50,0009 X 2F X 23] =

160,000 X 174 =
90,0009 x 14 =
14,0009 x 3ul] X 2A] k=
15,0009 X 1574 X 23] =

11,334
6,850
400
350
200
150
2,800
3,000
300
2,300
1,200
400
590
320
270
210
984
200
250
160

450
1,216

10,514

920

820

296

210-01

210-06

50,0009 X 2=

100,000 x 1% =

1,216
1,216
100
150
100

920

296




718 AEZE YA
719 - A E Rk 4] 9% (9] - 212
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
W) =3} 210-06 |50,00091 x 17 = 50
3) A& n 21015 |20,0009 x 427 = 840
4) 7+414) 230-02 |3,0009 x42% = 126
FTA YA} 14,215 11,015 3,200
TR 12,590 9,390 3,200
1. 23 2A 1,340 1,340 0
7h WS EA 1,340
D Sojgx 210-01 |50,0009 % 3%= 150
2) 2p A2 210-01 |15,00091 % 3% x 23] = 90
3) A+ 210-06 |100,0004 x 47 x 23] = 800
4) o] 3 230-02 |15,00091 x 107 x 23] = 300
2. QAHAE) A 48+ 2,050 2,050 0
7h AR A 3] 2,050
1) Mg 210—-06 |100,0004€1 x 47 x 43]= 1,600
2) d23 230-02 |15,0009 X107 x 33] = 450
3. L dFH/NEH7} 1,420 1,420 0
AETE A b 1,420
N EE 210-01 |50,0009 x 2%= 100
2) AFEA = 210—-01 |10,0008 x 2% = 20
3) FA =) 210—-06 |100,0004€ X 57 x 23] = 1,000
4) 893 230-02 |15,0009) X 10 x 23] = 300
4. LHJNHFFZ 7,780 4,580 3,200
FARTA R I R e ] 7,780
D =98 210-01 50,0009 X 7% x 28] = 700
2) AFaA = 210-01 |10,0009) X 873= 870
3) AETT 210—06 (40,0009 x9™ X 163]= 5,760
4) 39| 3 230-02 |15,00091 X 10 x 33]= 450
A FAdAA B 615 615 0
L A FAArr# A A 615 615 0
7h. AALS] 2 3 615
1) FXeg 210—-06 |100,0009 x 17 x 33]= 300
2) d23 230-02 |15,0009 X7 x 33]= 315
W = ot 2T S — AAALLE — nH A - AF A




>,
e
£
12

20234 (A)

2022 (B)

1,010

1,010

210-06
230-02

100,0009 x 27 X 4 3] =
15,0009 X 79 x 23] =

1,010
1,010
800
210
3,000

1,010

3,000

240-01

1,000,0009 x 3/ &=

3,000
3,000
3,000
2,222,038

3,000
3,000

974,903

1,247,135

1,777,918
629,958

504,056
490,038

1,273,862
139,920

ox H
re o
off
e
iy

&
B

ofl P4 m

©
&

~—

by
o e Iy 2 o

210-01
210-01

210-06
210-06
210-06
210-07
210-15
230-02

210-01

210-06
210-06
210-07
210—-12
210—-12

50,0009 X 60F=
8,000 X50+F-=

100,000 x 274 X 53] =
50,0009 X 27 X 53] =

14,0009 X 3ul] X 24| 7F X 53] =

700,000€ x 1=
25,0009 x 304 =
15,0009 X 40" x 23] =

30,0009 X 12%F X 83]=

100,000€] x 278 x 2A] k=
50,0009 X 29 X 4A] k=
700,000 X 1t} X 53] =
8,000 X357 X 63]=
3,0009 X35 x 83| =

32,970
7,970
3,000

400
1,500
1,000

500

420

700

750
1,200

25,000

16,000
2,880

800
400
400
3,500
1,680
840

7,970

25,000




7o AEZEYAA
7187 - AR R Qw2 A (F - 1Y)
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
SR 210-15 |35,00091 X307 X 63]= 6,300
2) o] & wAF ol 240-01 |500,0009 X 67¢ = 3,000
3) 258w 620-03 |1,000,000€ X 67 2= 6,000
2. T AHART AT 7,000 5,600 1,400
7h AR A 7,000
1) $ojg= 210-01 50,0009 x 8% x 23] = 800
2) A2 A =} 210-01 |5,0004€ X 100%-= 500
3) T AT 210-01 [17,700¥ x407= 708
4) AT (4D 2,400
78 718 210-06 |100,0004 x 47 x 33]= 1,200
W) x3 210-06 |50,00091 x 47 X 27+ x 33] = 1,200
5) ZAAFAH] ) 210-06 |40,000¢9 x4 x 38| = 480
6) 418 210—06 |14,0009 X 31 X 3217k X 478 X 338] = 1,512
7) 82]3 230-02 |15,0009 X207 x 23] = 600
3. & HAAEA Y 84,300 80,000 4,300
7h S E okl 84,300
1) $98= 210-01 |50,0009 X 13F*x103]= 6.500
2) Ak (g 210-06 |100,000¢ 21 x 128] = 2,400
3) AFFAAE 210-07 |450,0009 X 20} X 63] = 5,400
4) A& 210—-13 |50,000€ X 4007 = 20,000
5) 258w 620-03 |1,600,0009 x 207§ = 32,000
6) &8t 18,000
7hH 29 620-03 |1,500,000¢ x 874& = 12,000
) A+ 620-10 |1,500,0009 x 4715 = 6,000
4. 9N B Z WAL 50,000 220,800 170,800
7h N A 2,880
1) $ojg= 210-01 30,0009 x 4%= 120
2) WA 210-01 20,0009 X 20%-= 400
3) AT (LD 300
71 7= 210-06 |100,0009 x 173 x 28] = 200
W) Z3 210-06 |50,00091 x 178 x 23] = 100
4) 4w 210-06 |10,000¢ X 31 X 24| 7} X 23] = 120
B - ol EFERS - RFEREAYN - 3SAY Y - BSHY YA




A
Apelu e A= Atz < 2023 (A) | 20229 (B) (A-B)

5) Al am 210-07 |600,0009 x 1t|= 600
6) A 210-15 |15,0009 x20% = 300
7) 214 230-02 |8,000¢ x 20 x 28] = 320
8) 7FAIn) 230-02 |3,0009 x 207 x 28] = 120
9) ¥93 230-02 |15,0009 X207 x 23] = 600
U doj R =W ARI 7 Y] 47,120
1) ® 33,800
7 1w 110-03 12,500,000 x 178 x 8¢ 20,000
W) 1+55 110-03 |2,700,0009 x 17 x 49 = 10,800
th A3y 110-03 |100,0009 %18 x 12¢= 1,200
) 3y 110-03 150,000 x 19 x 129 = 1,800
2) FEAR 4,800
7H FElelx g 110—03 [400,0009 x 19 x129= 4,800
3) dxg 2,000
71 Alekel g %] ¢gn] 210-15 |2,000,0009 x 14 = 2,000
4) ¥ A=+ 320-05 |3,000,000¢ x 1= 3,000
5) 4t K3 7] AR 320-05 |32,000,0009 % 11%= 3,520

FolANHZTZIALY 54,500 74,480 219,980
bl Az e 20,000
1) S98= 210-01 |50,0009 X 19% x 23] = 1,900
92) A A= 210-01 |8,000¢1 X509 x 23] = 800
3) TA]9] 210-01 |17,1009 x50 x 23] = 1,710
4) A (Lnb) 3,000
7h 71 210-06 |100,0009 x 67 x 23] = 1,200
W) 23 210-06 |50,0004¢l X 67 X 3A17kx 23] = 1,800
5) At (AN 840
71 782 210-06 |40,0009 X 67 x 28] = 480
) =3 210-06 |10,000€1 X 61 x 321k x 23] = 360
6) A= 210-07 |400,0009 x 34 = 1,200
7) A= 210-07 |700,000¢ x 2] x 23] = 2,800
8) 21h] 210-12 18,0009 x50 x 58] = 2,000
9) 7HAH) 210-12 |3,0009 x50 x 28] = 300




7|88 AlE4E WA
ARty B = AR S A S R (k9] : x4
2 o) 1=
gopzg 22| B3| 2% Aol %A REXE 20234 (A) | 2022d(B) | F7HA-B)
10) A &n) 210—15 (50,0009 X507 x 28] = 5,000
11) 893 230-02 15,0009 X 15% x 28] = 450
L gojAg e 13 4,500
1) 982 210-01 |50,0009 X 16%= 800
2) AFAdA = 210—-07 |500,000¢9 x 1= 500
3) AAYdA R 210—-07 |400,000¢ x 24 x 23] = 1,600
4) A3 n) 210-12 32,0009 x50 = 1,600
o} ol o] w 30,000
1) X773 30,000
7hH %8t 620—03 5,000,000 x 37 .= 15,000
W) Zskw 15,000
(1) 29 620—03 5,000,000 x 27} .= 10,000
(2) A 620—10 5,000,000 x 17} = 5,000
6. AN ST FA A 17,000 17,000
7h o)A w32 17,000
1) 2538w 240-01 |1,000,0009 x 107/H€ = 10,000
2) e w 240-01 1,000,000 x 478 = 4,000
3) A58k 240-01 |1,000,0009 x 37]&l= 3,000
7. BT RRAN 3 4,260 4,260
7h. e X of 3] 2,760
1) 982 210-01 |50,0009 X 15% x 28] = 1,500
2) Ax G 210—06 40,0009 %12 x 28] = 960
3) 7F2H) 210-12 |3,0009 %100 = 300
v, 78 FAfol B 1,500
1) I 220-01 20,0009 %1% x5138] = 1,020
2) & 220-01 |40,0009 x 17 x 123] = 480
8. AWK FR 48,460 48,460
7h FHEH A S S S 25,000
D 33554 25,000
7h =58t 620—03 |1,000,000¢ X 157 .= 15,000
) =sku 620—03 1,250,000 x 87 = 10,000
U BT AR A n S S 23,460
g - ol EFERS - R5EREAYN - 3SAY Y - BERFeIA Y




AR A5 AEWY 2023d(A) | 20229 (B) | TH(A-B)

1) $98= 210-01 |50,00091 X 115 x 63]= 3,300
2) A B A = 210-01 20,0009 X 125%-x 23] = 5,000
3) AAFEE (Yuh) 6,000
7h 71 210-06 |160,000€ x 21 x 123] = 3,840
) =3 210-06 90,0009 x 27 x 123 = 2,160
4) 2FFA A= 210-07 |500,00091 x 1th x 173] = 8,500
5) 214 210-12 |8,000€ x 307 x 28] = 480
6) 7FAIn 210-12 |3,000¢ x 307 x 28] = 180

9. A& H ALY 31,468 31,468 0
7h FuSEdsAd 30,000
1) S98= 210-01 48,0009 x 10%= 480
2) ZFApd 210-06 40,0009 x 21 x 3204] 7k= 25,600
3) AH=E 210-15 |1,2004€ x 209 X 1603 = 3,840
4) ¥ 9] 3 230-02 8,000 x10%= 80
b A S AR A S 1,468
1) S98= 210-01 (50,0009 X 16%= 800
2) A2 A = 210-01 |5,0009 X 40%-= 200
3) AAEE (LD 300
7} 718 210-06 |100,000¢ x 2% = 200
W) 23 210-06 |50,00091 x 2% = 100
4) 91 % 210—-06 14,0009 X 3ufj X 24| 7k x 2 = 168

10. 22HAAFFA L 300,000 0 300,000
A Eat e R R e K o o e e R R R 2,150
1) S99= 210-01 |50,0009 X 10%= 500
2) AA 1,200
7h 718 210-06 |40,0009 X 107 x 23] = 800
W} %3} 210-06 |20,00091 X 107 x 23] = 400
3) 93 230-02 |15,0009 X 157 x 23] = 450
L A2 A GAA AN - AT 13,580
1) S98= 210-01 |50,0009 X 12% x 23] = 1,200
2) A2 A = 210-15 17,9509 X 100%= 1,795
3) EA+S] 210-15 20,0009 x 1007 = 2,000

Su% - @5 - BEHPEY - BEHY LAY




MK (k] - xd9)
1=
jg Aol B Az 20234 (A) | 2022€(B) | Z7(A-B)

4) ZFAr (YR 1,980

7hH 71& 210—06 [160,000¢9 X3 X 33]= 1,440

W) 3} 210-06 |90,0009 x 37 x 23] = 540

5 Y1 210-06 |14,000¢ x 31 x 3% X 54| 7= 630

6) A= 210-07 |500,0009 x 241 x 23] = 2,000

7) 2H] 210-12 |8,0009 X 1007 x 33] = 2,400

8) k2] 210-12 |3,0009 x 100 x 33| = 900

9) &9 3 230-02 |15,0009 x 159 x 38] = 675

ok Azd = AR E A A 254,270

1) &98= 210—01 |50,0009 X 20% x 38]= 3,000

2) A& A 2 210-01 |11,000€ x 100%-= 1,100

3) A (dRh 6,450

7hH 7)1 210-06 |160,0009 x 3% x 58] = 2,400

W} %3 210-06 |90,000€ X 3A1 7% 37 X 53] = 4,050

4) 4% 210—-06 |14,0004€1 X 31 X 4A] 7% 37 X 58] = 2,520

5) A3 8 210-13 |2,400,00091 x 1139 = 271,200
TEAENEEF 13,588 12,478 1,110
1. A A G LA SR F 13,588 12,478 1,110

7t A3 3 A o 3w A R 12,320

XK 210-01 |50,0009 x 8%= 400

2) A=A 2 210-01 |26,0009 X 370%= 9,620

3) AESTT 210-06 [40,0009 x10% x53] = 2,000

4) 93 230-02 |15,0009 x 10 x 28] = 300

v AFS A o st A 8- 1,268

1) $a3g= 210-01 |50,0009 X 10%= 500

2) 7k (dRh 600

71 782 210-06 |100,00091 x 27 x 23] = 400

W x4 210-06 50,0009 x 27 x 28] = 200

3) Y8 210—06 [14,0009 X 37} X 2A1 7k x 23] = 168
ENgSHALY 2,000 1,540 460
1. A0z IA < 2,000 1,540 460

b AEn gl u S A A EY T LY 2,000




71208 A E 7y oA
A
At & E=A= A= 20239 (A) | 20229 (B) (A-B)

1) Lg% 210-01 20,2009 X 10% X 28] = 404
2) A (4R 600
7 71 & 210—06 100,000 x 17 x 48] = 400
W) %3 210-06 |50,0009 x 17 x 48] = 200
d1s 210—06 |14,0009 X 30 X 217k X 48] = 336
3 9] 3] 230-02 15,0009 %10% x 28] = 300
FAAR] 310-01 |3,0009 X307 x 48] = 360

TSP FFAAMNA 1,132,372 0 1,132,372

1. A SA LB 1,132,372 0 1,132,372
P R ] e o T e g 901,982
1) A An 420-02 |615,120,0009 x5.7021%= 35,075
2) A1Adn] 862,620
7h) ol ZF ) A A 420-03 65,0009 % 3,920m'= 254,800
W) 712 EAF 420-03 55,0009 X 4,500m'= 247,500
oh w42 A 420-03 352,000 x 380m= 133,760
o) ST EA 420-03 |132,0009 X580m'= 76,560
np) AX IS 420-03 |150,000,0009 x 12]= 150,000
3) Al 420-05 |615,120,0009 X 0.6969%= 4,287
etz AT TALFHZA 230,390
2 A ) 420—02 |180,000,0009 X 7.7938%= 14,029
2) AlAdH) 420-03 12,699,000 X 66.6913m' = 180,000
3) Al E o) 420—05 |180,000,0009 X 0.756%= 1,361
4) &9 &% 620—04 |35,000,0009 X 13= 35,000

87,792 32,792 55,000

87,792 32,792 55,000

Z AR Y 55,000 0 55,000
st A A AlE Y 55,000
(25) 7% 34 28,030
7h 712 A T H R S A 3,830
(1) e998= 210-01 |50,0009 X 20%= 1,000
(2) A=A =+ 210-01 |3,0009 X 50% = 150
(3) ZHAH (W) 750

10




Ay e S=/= AEUe 2023d(A) | 2022d(B)
op 71E 210-06 |160,000¢ x 3= 480
) =3 210-06 90,0009 x 39 = 270

4) 9= 210-06 10,0009 x 31 x 2] 7k x 37 = 180
(5) A&n) 210—15 35,0009 x50 = 1,750
W 7z @ dAduddTAd 4,500
(1) A3 240-01 |3,000,000€ x 17} € = 3,000
(2) Zo}g 240-01 |1,500,000€1 x 17H&= 1,500
oh ALY S 600
(1) 7] 210-06 |40,0009 x10%= 400
(2) %3 210-06 |20,000€ x10%= 200
2 72 AL 10,700
(1) &98= 210-01 |100,0009 x 14F= 1,400
(2) A=A 2 210-01 |3,4009 x50%-= 170
(3) At (59E) 1,050
oy 71E 210-06 |200,000¢] x 3= 600
() z=3 210—-06 |150,0009 % 3% = 450
4) 9= 210—-06 |10,000€ x 3 X 2417k x 37 = 180
(5) AlAdAA 210-07 |300,000¢ x 154 = 4,500
(6) 2] 210-12 18,0009 x50 x 38| = 1,200
(7) ZFA1H) 210-12 |3,000€ x50 x 38]= 450
(8) A)&n) 210—15 35,0009 x50 = 1,750
"D A A e g e A A €l 8,400
(1) Aekn) 210-01 |300,000¢ x 107 = 3,000
(2) w51 210-01 |60,000€ x 303] x 3= 5,400
2) (T8)71=H A« 20,100
7H 712 HAEA T AT 1,850
(1) &98= 210-01 |50,000€ x 10&= 500
(2) A=A 2 210-01 |17,0009 x 20%*= 340
(3) At (b 250
o 7= 210-06 |160,00091 %19 = 160
) =3 210-06 90,0009 x 1= 90
4) 9= 210—-06 |10,000¢l x 3vl] x 24 7k= 60

11




718d AEdEY A
719 AR et S A A% (9] - H 4
7)) [e) 1=}
Bopmn f}% ?};3 jg Abe] el = = Ao 20239 (A) | 20224 (B) | Z7(A-B)
(5) A3 210-15 35,0009 x 20% = 700
b &S PP AT A TA S 3.000
(1) a+3 240-01 |3,000,000¢ x 174€ = 3,000
th AdE Y 600
(1) 7]% 210-06 |40,00091 %108 = 400
(2) 27 210-06 |20,0009 %104 = 200
eh) 7|z A2 3,250
(1) S99= 210-01 |50,0009 x 4F= 200
2) 2 g (ER) 350
o 7)1 210-06 |200,00091 x 14 = 200
(h) %x 210-06 |150,00091 x 1= 150
(3) A 210-12 |8,0009 x50 x 28] = 800
(4) 7+Am) 210-12 |3,0009 X504 = 150
(5) A&@n) 210-15 |35,0009 x50 = 1,750
b WA A 5T e A € 11,400
(1) gk 210-01 |300,00091 x 10 = 3,000
(2) LS 210-01 |60,0009 % 143] x 109 = 8,400
3) =9H] 2,870
7h *GEE 210-01 |50,0009 X 29% = 1,450
(BRERC EASE| Rt ) 210-09 |142,0009 x107] ¥ = 1,420
4) 71z Qg mAbod | 4,000
7h #) 220-01 |20,00049 X 27 x 403] = 1,600
) = 220-01 |40,0009 x 21 X 303] = 2,400
2. FEHANAR Y 32,792 32,792
b A F R A S 2,792
1) 98 210-01 |50,0009 X 6%= 300
2) T AT 210-01 |15,0009¥ x40¥= 600
3) AT (LD 1,050
7h) 7)1 210—06 |100,0009 x3%= 300
W) =3 210-06 |50,000¢ x 38 X 5A] k= 750
4) 9w 210-06 |14,000€ x 37 X 6A] 7t= 252
5) A1) 210-12 8,0004¢ x 409 = 320
B - FOLEFETS - wFSFBEAY - SHAPRPL - Y PIA A

12




718 A& e A
7187 - AR R Qw2 A (F - 1Y)
[e) 1=}
Bop By ?’}Z; ?};3 jg AFgiu el o= SEBE 20239(A) | 20229(B) | ER(A-B)
6) 7FAIN) 210-12 |3,0009 x40 = 120
7) o3 230-02 |15,0009 %104 = 150
h 2R F SIS A ¢ 30,000
1) =3 14,000
b 8w 620-03 |14,000,0009= 14,000
2) FELEIHY 4,000
7h 9 EE 210-01 50,0009 x 30%= 1,500
W) 2peEkelate 210-07 |500,000€1 x5t = 2,500
3 APz 12,000
7H +9EF 210-01 |50,0009 % 31% % 28] = 3,100
) Ak (58) 700
(1) 7| & 210-06 200,000 x 2= 400
(2) 23} 210-06 |150,0009) x 273 = 300
th g ats 210-07 |500,0009 x 12t)= 6,000
2} AlH) 210—-12 |8,0009 X 1007 x 23] = 1,600
u}b) 7HAH) 210-12 |3,000€ X 1007 x 23] = 600
Zsm e 2,700 2,700 0
=2 38r2 9 2,700 2,700 0
1. AxEg s 2,700 2,700 0
7h w& gAY e 2,700
1) A=A = 210-01 |10,0009 x 30%= 300
2) BEAY TS 2,100
7 71E 210-06 |40,00091 x 359 = 1,400
W) z3} 210-06 20,0009 x 35 = 700
3) ol 3 230-02 |15,0009 %107 x 23] = 300
Solm s 7,489 6,930 559
SolA e 7,489 6,930 559
. eX9a783448¢9 2,764 2,530 234
7h fe A b 1,000
1) ¢94= 210-01 |50,0009 X 10%= 500
2) Ak (L) 500
7hH 718 210-06 |160,000¢ x 2= 320
PG - frotd 2T g - wFdsdeAd - fotud — folu S

13




718 AE4E WA
71389 Ae R ERtnSA 9 (k9] - A 9)
o 1=]
gopzg 22| B3| 2% Aol %) 5 RENE 20234 (A) | 2022d(B) | F7HA-B)
) =3 210—-06 90,0009 x 21 = 180
. Fe] A wALE S 1,000
1) 29434 240-01 |1,000,0009 x 17§&= 1,000
o R R R Fale R 764
1) A=A = 210-01 |4,0009 x 90% = 360
2) Ak (g 250
71 7] 210-06 |160,000¢ % 1= 160
W) 23 210-06 90,0009 x 1= 90
3) ZdARAn] A 1) 210-06 |70,0009 %174 = 70
4) 918 210—06 |14,000€ x 31 X 2A] 7k= 84
2. §X &AL 4,725 4,400 325
7} A Yetentg-ed 1Y 210-01 [225,0009 x21719= 4,725
ELnS 106,471 69,325 37,146
EZg899 106,471 69,325 37,146
1. 571599439 1,260 1,260 0
7} S gE 210-01 [30,0009 x4%= 120
U, A5 210—-06 |100,000¢ x 3 x 38| = 900
t}. 39 3 230—-02 |15,0009 x 8™ x 28] = 240
2. EFnSAYAE LY 105,211 68,065 37,146
7h S SA A AE 29 105,211
1) $98=% 210—-01 |50,0009 X 105 x 93] = 4,500
2) TEIWLY 69,011
7h B Z3 A 2 210-01 |1,00090x1,011%= 1,011
) xpekel xp 210-07 |500,000¢ % 23] = 1,000
t}) 21n 210—-12 |8,0009 x 58 x 58] = 2,320
Zh) 7HA1n) 210-12 |3,0009 X 76 x103] = 2,280
np) A YSEIR JWe 210-15 |20,00091 X 5797 x 53] = 57,900
) BdAFEZE 7L 210-15 |20,0009 X 45 x 53] = 4,500
3) Ak (dah) 5,040
7H 71E 210-06 [50,0009 x 727 = 3,600
W) =3 210—-06 20,0009 x 72 = 1,440
4) 9% 210-06 10,0009 x 61l X 53] = 300
W - Fold2FEuF - AFFHRTAY - EFAF - EFuHLY
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7@d AEDEYIA
R R AL R Rk () : )
(e} =]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
5) At 719l 458 1,640
71 Ag7std 4n) 210-01 |160,0009 x 274 x 23] = 640
) AARA T 210—15 100,000 x 5% x 28] = 1,000
6) SFILGTEA (1) 150
7}) A4 310-01 |8,0009 x 47 x 33] = 96
) 7HAH) 310-01 |3,0009 %6 x 38]= 54
7) s3]0 n 220-01 |20,0009 x5 x 1209 = 12,000
8) AFY1F17 | 3] 900
7h AEL-9 9 3 230-02 |15,0009 x5 = 75
) kg e o] 8 230-02 |15,0009 x5 = 75
o} ESmALE 9 g 230-02 15,0009 x 207 x 23] = 600
2} E3tw S Ay ) 3 230—02 15,0009 %107 = 150
9) Bl ET-<Iv] 11,670
7H BZF37]7) 430-01 |667,5009 x 4= 2,670
W v g S22 7] 430-01 |450,0009 X 20%= 9,000
=TS 29,344 26,416 2,928
SHEeLSEY 27,640 24,712 2,928
1. EA=s73X9 27,640 24,712 2,928
7t BE A AA SN BEA Y 23,432
1) S9ex 210-01 |50,0009 X 10% % 43]= 2,000
2) A5 A2 210-01 |15,0009 x 100%= 1,500
3) T=AT¢] 210-01 |15,000€ X807 X 107} a= 12,000
4) ZEAE (L) 2,000
7 718 210-06 |160,000 x 4™ X 127k % 23] = 1,280
W) 23 210—06 90,0001 X 4% X A3k x 28] = 720
5) ZFARAH] 7 H) 210-06 70,0009 x 4% x 23] = 560
6) 9w 210-06 |14,000¢ X 31 X 247k x 8% = 672
7) AFI A= 210-07 |800,000€ x 1dj= 800
8) A|Adelxt= 210—07 500,000 %14 x28]= 1,000
9) 21H) 210—12 18,0009 x50 x 58] = 2,000
10) 7F21H) 210-12 |3,0009 x50 x 28] = 300
11) €93 230—02 15,0009 % 20% x 28] = 600
PG - ol 2T - uFdFdeAd - SHLE - SHEELELY
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71#E AEdEWSA
719y ¢ Ak ek g7 A% (25 - A4
(e} =]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
wh SA &R e 4,208
1) $98=% 210-01 |50,0009 x 7% x4 = 1,400
2) TA9] 210-01 120,000 x 309 x 23] = 1,200
3) At (5E) 1,000
7 7)1 210-06 |300,0009 x 17 x 23] = 600
W) 23 210-06 |200,000¢ x 17 x 23] = 400
4) ZFA}An] 7] 210-06 |70,00091 %17 x 28] = 140
5 Y18 210—06 |14,000€ X 31} X 2A1 7k x 23] = 168
6) 323 230-02 |15,00091 X208 = 300
S W T A B 1,704 1,704 0
L Stu=XadEg=d 1,704 1,704 0
7 S e= 210-01 |50,0009 X 4% x 38]= 600
. AR (DR 900
1) 7= 210-06 |100,0009 27 x 33]= 600
2) %3} 210-06 |50,0009¢1 % 27 x 38] = 300
SR T 210-06 |14,00091 x 37 x 2] 3k= 84
2}, ¥ 2 3] 230-02 |15,00091 <89 = 120
548524 73,815 208,965 A135,150
gl TR S e 16,640 149,660 A133,020
L. dsgsxd 10,640 10,640 0
7} A A7 A g 2,290
1) L99= 210-01 |50,0009 X 10% x 23] = 1,000
2) AAG 210-06 |40,000¢ x 3% x 23] = 240
3) 2ol zte 210-07 |600,00091 x 1th= Y
4) o3 230-02 |15,0009 x 15 x 23] = 450
L} WAtk ol o] B 2 A 8,350
1) £98=% 210-01 |100,000€9 x60&= 6,000
2) A 240
7 7] 210-06 40,0009 x 47 = 160
) =3 210-06 20,0009 x 413 = 80
3) Al xtE 210-07 |1,000,0009 x 1= 1,000
4) 214 210-12 18,0009 % 30%= 240
B4 - foll2FERS - 5N EAY - SR - BoolEu S B
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7188 AlE4E5WAA
718 s AR R u SA 4% (k9] - )
=] = o 1=
Bopnm j} i ?}g jg Ape el == Az 20239 (A) | 20224 (B) | =7(A-B)
5) ZFHA1H] 210—12 |3,0009 %1907 = 570
6) o) 3 230-02 |15,0009 %209 = 300
2. ojdol 7| dPALEA 6,000 4,300 1,700
7}, ol o] e A} 3,500
1) 99 ¢= 210-01 |100,0009 x 35% = 3,500
. Sy o A} 2,500
1) 93¢ 210-01 |50,0009 x 11%= 550
2) AT (LD 210-06 |100,0009 x5 = 500
3) e w 210-07 |450,0009 x 2t) = 900
4) 24 210-12 |8,0009 x50 = 400
5) 7+21H) 210-12 |3,0009 x50 = 150
BEAEET 57,175 59,305 22,130
1 AF2dAS) 3,600 3,600 0
AEEENER e 3,600
1) 2471 31001 |300,0009 x 671 = 1,800
2) AFEH 310-01 |100,00091 %18 = 1,800
2. 71 EbA &) 3] 18,075 18,075 0
7} A& o) 3 3,000
D A&7 A 3,000
7hH L= 210-01 |40,0009 x 23%= 920
W) Awksnr 210-06 40,0009 x 15 = 600
th 21H] 210—12 |8,00091 x40 x 28] = 640
2h) 7+211) 210-12 |3,0009 x40% x 23] = 240
u}) 9] 3 230-02 |15,0009 x40 = 600
L}, 35 7hvj o &) 5,000
D A% A3 5,000
7H 8= 210-01 50,0009 X 16%= 800
W) 2kl at s 210-07 |400,0009 x 3t} = 1,200
t}) <) 210—12 40,0009 X104 <249 = 800
2h) Aln] 210—12 18,0009 X 100% x 28] = 1,600
uh) 7214 210-12 |3,000€ X100 x 23] = 600
R T P g hSalac 6.355
PG - frotd 2T - uFdtadsAd - SHEdEAY - 4FA5LE

17




719 AR e u S 9% (he] - Al
o 1=]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
1) Lo 8= 210-01 |50,0009 X 60%= 3,000
2) Auadd 600
b 75 210-06 |40,0009x10%= 400
W) %3 210-06 |20,000€ %107 = 200
3) A EdAE 210-07 |1,155,0009 x 1= 1,155
4) A1) 230-02 |8,00049 X 2007 = 1,600
2}, el Al S 3] 3,720
1) $98> 210-01 |50,0009 X 48%= 2,400
2) A 230-02 |8,00041 %120 = 960
3) 7FAln) 230-02 |3,0009 X120 = 360
3. 5AFELD 35,500 37,630 22,130
7h ST EEY 35,500
1) 2538w 620-03 |500,000€ X594 = 29,500
9) =8 6,000
1 29 620—-03 |500,00091 x 12 = 6,000
YA = 94,699 81,909 12,790
SFPFGA =X 2,150 2,500 A350
1. A TS gur g 2,150 2,500 2350
7h, SRR 9] 3] - 2,150
1) wsHded 2,150
7H %%t 620—-03 |1,075,0009) X 27} 1= 2,150
SpZod gS 21,557 21,917 A360
1. StnZ e & 21,557 21,917 2360
7h S el 993
1) S8 210-01 |50,0008 x 6= 300
2) ZAEE (duh 300
71 782 210-06 |100,00091 x 17 x 23] = 200
W x4 210-06 50,0009 x 17 x 28] = 100
3) Y8 210—06 [14,0009 X 37} X 2A1 7k x 23] = 168
1) 893 230-02 |15,0009 x 15%= 225
. s EA = 1,200
1) £98= 210-01 |50,0009 X 6% x 23] = 600
W - FOPREFERS - BFHEFBEAN - STYYBAE - SR PRLE
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718 AEdEHIA
7187 YRR G nSA 9 (2 - d€
Z (e} =]
gopzg 22| B3| 2% Aol %A% Az 20234 (A) | 2022d(B) | F7HA-B)
2) BtwEENTHABQF 210-02 |25,0009x12¢¥= 300
3) &3 230—02 [15,0009 %104 x23]= 300
o, Sta e oh 33 0] 91 9 32 19,364
1) 99 210-01 |100,0009 x10%= 1,000
2) &= 210-01 |150,0009 x 3]+ x 103]= 4,500
3) ZAAFE R (L) 1,360
7hH 718 210—06 160,000 2% x 28] = 640
W) 23 210—06 90,0009 X 2% X 2A|3F < 28] = 720
4) 418 210-06 14,0009 x 3ufl X 347k x 21§ x 23] = 504
5) ZAg=} 10,500
7h 71 21006 |100,0009¢ x 74 x 103]= 7,000
W} %2 210-06 |50,0009 x 77 x 103] = 3,500
6) ADAAE 210-07 300,000 x 23] = 600
7) 393 230—02 15,0009 %157 x 48] = 900
SAYTEF 68,760 55,260 13,500
1. ${(WEE) ZZ2 A E2-Y X4 68,760 55,260 13,500
7h AEAAGQIE 3ol 220-01 |20,0009 x 3 x 1503] = 9,000
L g 42,160
1) S98=% 210-01 |100,0009 X 24%= 2,400
2) T=ATeIH) 210-01 |20,0009 x 20%= 400
3) T QT A A 210-02 |250,0009 x12¥= 3,000
4) An 210-12 |8,0009 x 207 x 53] = 800
5) 7+2H) 210-12 |3,0009 %209 x 88| = 480
6) T2 13:Len] 210-15 |1,000,0009 x 123]= 12,000
7) A g HAFA] Tl H] 210-15 |5,0009 X 100%¥= 500
]) A AAFA AN 210—15 |300,000€ x 107 = 3,000
9) A X5 A A 210-15 100,000€ x 157 X 103]= 15,000
10) 2] Z2 4 2H) 210—15 10,0009 % 200%= 2,000
11) 258 A 210-15 |300,000¢ x 33 = 900
12) A&l E 4] 210-15 150,00091 x 3% x 23] = 900
13) A A7) 430—01 |780,0009 % 1t} = 780
o AEddEs wAkeg 17,600
AL - FOHET A - AFEES 94 - AR EA L - Sy EEE
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718 s AR R u SA 4% (k9] - )
[e) 1=}
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
1) +=3 ZAFA S 210-15 |100,0009 x 4= 400
2) 4=3] o] 220-01 (20,0009 x4 x 1853] = 14,800
3) 3d 240-01 |50,00091 x4 x 129= 2,400
g okA e 2,232 2,232 0
2 SR EuE:) 2,232 2,232 0
7t S A P 2,232
1) 98 210-01 |3,00091 <88 = 264
2) A 210-07 |500,0009 x 2t = 1,000
3) A= 210—15 |3,000¢ X 887 = 264
4) A 230-02 |8,0009 X887 = 704
AR =2 40,000 40,000 0
A2 W23 40,000 40,000 0
AZAI=2 LY 40,000 40,000 0
7h R EZA G E TR 40,000
1) 28w 40,000
H 9 620—-03 |27,702,0009= 27,702
W) A 620-10 |12,298,0009= 12,298
h Ay 21 whu)] g 1,810 1,810 0
ASAFUY A G B 1,810 1,810 0
1. FHFRFAPRAT G 1,810 1,810 0
7k S A g et kel 1,810
1) AAA Y FTE 210-01 |1,400,0009 x13]= 1,400
2) FA o 210-06 |100,0009 x 174 x 23] = 200
3) 93] 230-02 |15,0009 X 77 x 23] = 210
AHEZ 2,244,920 1,443,660 801,260
WSty AEE gy 1,094,850 1,028,710 66,140
W33ty e 1,048,440 982,780 65,660
R R R R | 940,140 899,980 40,160
7}, =3 AR 9 581,140
1) A3 210-13 35,0009 X 140 X 4]+ x 29.65F = 581,140
o vl Al a g gl S 580
1) 98¢ 210-01 |100,0009 X 1%= 100
P& - FOIREFERSE — BEEA - BAFFTLEE R - BAFTF LY
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A S A5 AEU S 202349 (A) | 20229 (B) | SH(A-B)
2) A=A = 210-01 |5,000€ x 42%= 210
3) ZAAFE (L) 150
71 7] 210-06 |100,000¢1 X 18 = 100
W) %3 210-06 |50,0009 x 1= 50
4) 7rAn) 230-02 |3,0009 x40 = 120
o St g A2 3] 710
1) S98= 210-01 50,0009 x 10E= 500
2) 71-414) 230-02 [3,0009 X704 = 210
ek kst a9 g 2l g 710
1) S8 210-01 |50,0009 x 4%= 200
2) g93 230-02 |15,00091 x 343 = 510
R R e A L] 345,000
1) 258w (e 210-13 |3,578,9409 x 197 = 68,000
2) =8y 620—03 |116,500,000¢ x 27] 3= 233,000
3) 28w 44,000
71 2 (9E) 210-13 |3,000,0004 x 67} L= 18,000
W} 29 620-03 |2,000,000¢ x 37 .= 6,000
th AFH (91Eh 210-13 |5,000,00091 x 37} 3= 15,000
) A+ 620-10 |5,000,000¢ x 17§ .= 5,000
vh g ol w A 12,000
1) 258w (9E 210-13 |3,000,000¢ x 37} 1= 9,000
2) T 3,000
7h A 620-10 |3,000,0009 x 17} 3= 3,000
2. 99 Ente sy A< Y 104,900 80,000 24,900
74, W3 FukS e e 210-13 |8,000,00041 X 137}7]¥= 104,000
ok el By 009
1) S8 210-01 50,0009 X 3% x 23| = 300
2) A 009
7 7] 210—06 40,0009 x5 x 28] = 400
) =7} 210-06 |20,0009 x5 x 23] = 200
3. BHFAAAH G AL 3,400 2,800 600

7} S eE 210-01 |50,0009 x 5% x 43] = 1,000

ERud - PF
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7@d AEDEYIA
R R AL R Rk () : )
[e)
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
i}, sjoln| 2400
1) ZH] 220-01 |20,000€9 x 17 x728]= 1,440
2) = 220—01 40,0009 % 174 x 248] = 960
ZE27499 46,410 45,930 480
1. ER2Zg27Heq 46,410 45,930 480
7t 2EERARAIS 2,410
1) $98=% 210-01 |100,0009 x 2% = 200
2) A=A 2 210-01 |5,0009 x 40%= 200
3) AR (L) 300
7h 71E 210-06 |100,0009 x 27 = 200
) %3z 210-06 |50,0009 %29 = 100
4) QFA wSn]| 210-15 |35,0009 x 307 = 1,050
5) A1) 230-02 |8,0009 %307 x 28] = 480
6) 7+21u] 230-02 |3,0009 x 30 x 28] = 180
U 58599 44,000
1) 258w 620-03 |2,095,230¢1 x 217} m= 44,000
rolzd g ANA 1,035,120 350,000 685,120
i BT A T e e 1,035,120 350,000 685,120
1. zol&asA ¢ 1,035,120 350,000 685,120
b BEEEA T 1,035,120
1) A58t uS 794 A4+ 180,000
7H 25354 AIA A 620—03 [1,000,0009 x 1107183 = 110,000
W TeugIgegAd 70,000
(1) 29 620-03 |10,000,000¢) x 47} .= 40,000
(2) AF 620-10 |10,000,000¢ x 37} .= 30,000
2) PLE IS A A TH 8,000
7h mael R EAs 8,000
(1) d57n) 210-01 20,0009 % 20% x 58] = 2,000
(2) e934= 210-01 50,0009 X 10F x 28] = 1,000
(3) A (L) 210-06 |100,000€ x 257 x 23] = 5,000
3) S EotY &Y 130,000
7h o eE 210-01 |10,000¥ X280 x 253] = 70,000
W& = FHETTUE - AHHA] - A FUAEANN — FoEStuu§Ld 3t 29




A S A5 AEUS 202349 (A) | 2022€(B)

) AR (ARh 210-06 |32,0009 x50 x 308 = 48,000
th AH) 21012 |8,0009 x50 x 303]= 12,000
4) A G LS S HAY 20,000
7 FRIFo sk gole] % 20,000
(1) @3 210-15 |10,0009 x 100 x 203 = 20,000
5) SrubehA] A - 697,120
7h guekA A E B 339,520
(1) Tl=po1 e A 420-03 |558,0009 X 150m= 83,700
(2) W2~ 420-03 |415,000¢] X 388m= 161,020
(3) AT A EZ 43001 |4,000,0009 X 5% = 20,000
(4) Fo A A B2 430-01 |8,000,0009 x 5% = 40,000
(5) AFFAEZAAEF 43001 |2,900,0009 x 12%= 34,800
L) S ek A E - 300,000
(1) $9 8= 210-01 |50,0009 x 100%= 5,000
(2) A= 210-01 |12,0009 x 60 x 243 x 9= 155,520
(3) 9= 210-01 |3,0009 X 20,000% = 60,000
(4) 2= A= 210-01 |2,0009x9,620%= 19,240
(5) S| Fo ZE 210-01 |5,0009 x5,0007}= 25,000
(6) AFLo= 210-01 |50,0009 x 100%= 5,000
(7) 7hA}) 210-06 |70,0009 x 483 x 9= 30,240
oh) Sk A 3 57,600
(1) A7+ 210-02 |800,000¢ x 129 = 9,600
(2) Astrr e 210-02 |1,000,0009 x 12¢= 12,000
(3) Aslo = 210-02 |50,0009 x 129 = 600
4) 37184 7] 210-07 150,000 X5t x12¥= 3,000
(5) A7) 210-07 |50,0009 x 28] x 129 = 1,200
(6) A|z== 210-09 |5,000,0009 x 18] = 5,000
(7) 27FRZ=A0) 210-09 |500,0009 x 129 = 6,000
(8) Y}z 210-11 |5,000,0009 x 28] = 10,000
(9) 2mFolA g 210-13 |100,0009 x 129 = 1,200
(10) A7]¢rABe 210-13 |100,0009 X 129 = 1,200
(11) Fa A g 210-13 |200,00091 x 129 = 2,400

HRGFAHN - FAET NG LT
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7187 - AR R Qw2 A (F - 1Y)
2] =0 [$) H
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
(12) YA r= 210-13 |100,0009 x124= 1,200
(13) o3n) 220—-01 |20,000¢1 X7 x303] = 4,200
SEXX Y 114,950 64,950 50,000
ASER LAY 114,950 64,950 50,000
1. 28EX AR IA Y 114,950 64,950 50,000
7h A b 18,000
D f1718 870544 14,000
7h ¢ 7)1k A 210—-15 |200,0009 X507 = 10,000
W) 971w 210—15 |2,000,0009 x 27 .= 4,000
2) W] E ] 4,000
71 AFEEA| 430-01 |1,050,0009 X 1th= 1,050
) AU E 430-01 |250,0009 x 2t} = 500
o) -ER 430-01 1,400,0009 x 1= 1,400
2h) THE (A4, 29) 430-01 |1,000,0009 x 1t} = 1,000
ul) A3 H 430-01 50,0009 x 1tj= 50
LT S e R T A B 89,950
1) =438k w 34,950
7 Hekx 620-03 | 34,950,0009= 34,950
2) so]EAAS L 55,000
7H 258w 620—03 |28,800,000¢ = 28,800
) =shw 26,200
(1) 39 620-03 12,200,0009= 12,200
(2) A+ 620-10 | 14,000,000¢= 14,000
o 5B 94 A DAY 7,000
1) 25EAAFY -3 4,260
7hH &9 8% 210-01 [40,0009 x 2%= 80
) = A= 210-01 11,0009 X 30%= 330
o} A4k 210-06 100,00049 x 27 = 200
2} WSE X AFS 3] o3 ) 220-01 20,0009 X 1% X 1603 = 3,200
ul) & 2] 3 230-02 |15,00091 %107 x 33| = 450
2) WEEA A RFAF& 2,740
7hH £9 8% 210-01 |50,00090 X 3% x 23] = 300

2
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A S E=A= 2= < 20233 (A) | 20229 (B) | SH(A-B)
) AR (ARh 1,000
(1) 7= 210-06 |160,0009 x 17 x 43| = 640
(2) =% 210-06 |90,0009 x 1 x 48] = 360
o) 918 210—06 |10,000€ X 31l X 2A] 7k x 48] = 240
Zh) H 3 210—15 15,0009 X 40" x 28] = 1,200
4,146,062 3,540,812 605,250
6,128 6,128 0
868 868 0
L RARS ALY 868 868 0
7}, RAWALA 868
1) 9= 210-01 |50,0009 X 1%= 50
2) A=A 2 210-01 |3,000€9 X50%-= 150
3) ZFAr (YR 500
7H & 210-06 | 160,0009 x 1% x23]= 320
W) 3 210-06 90,0009 x 1% x 23] = 180
4) 98 210—06 [14,000€ X 37 X 2A| 7k x 23] = 168
Ao R ) 5,260 5,260 0
1. st =43 390 390 0
7F BEFA AR 390
1) 98 210-01 10,0009 X 2% X 23] = 40
2) AXNGST R 210-01 10,0009 x 35t = 350
2. N FHNSINFE T 4,870 4,870 0
7h 537 B 593 4,870
1) $98= 210-01 30,0009 x 1%= 30
2) A 210—06 [100,00090 X107 x43]= 4,000
3) &3 230—02 15,0009 % 147 X 438] = 840
4,139,934 3,534,684 605,250
3,889,544 3,428,093 461,451
 BA TS A 2,378 2,378 0
7h, S A PA A A 758
1) 9% 210-01 |10,0009 X 9% = 90
2) A (L) 500
W& - fof e - FaFAE




AR s B Rt ety S) ks S R (k9] : x4
2 o 1=]
gy 7 ?};3 fg NENE = RESE 20239 (A) | 2022d(B) | Z%(A-B)
7hH 7)1 & 210—06 160,000 x 17 x 28] = 320
W) z7 210-06 |90,00091 x 1% x 23] = 180
3) d1s 210—06 |14,0009 X 3v X 217k x 28] = 168
. S e 1,620
1) A EAAEE 210-01 |120,0009 x1%= 120
2) g%H) 310-01 50,0009 x15% X 23] = 1,500
2. BAF AN =Y 3,481,578 3,080,388 401,190
7} x4 222,681
1) 29 620—03 |144,481,0009= 144,481
2) A 620—10 |78,200,0009 = 78,200
L =5 620-03 |1,130,867,0009= 1,130,867
o} =aw 820,927
1) 29 620—03 |272,131,0009= 272,131
2) AHY 620—10 |548,796,000¢= 548,796
2t 5y 852,558
1) 39 620—03 |517,722,0009= 517,722
2) AF 620—10 |334,836,0009= 334,836
wf, 315w A A8 2] 454,545
1) 29 620-03 283,216,00091= 283,216
2) AHY 620—10 |171,329,0009= 171,329
3. 1A FAEANY 378,638 318,377 60,261
7F x4 19,254
1) 29 620-03 |12,607,0009= 12,607
2) AH 620—10 |6,647,0009= 6,647
U, x5su 620—03 |108,778,0009 = 108,778
= =t A 78,957
1) 29 620—03 |25,436,0009= 25,436
2) AHY 620—10 |53,521,0009= 53,521
EIA1 81,649
1) 29 620—03 |49,262,0009= 49,262
2) AHY 620—10 |32,387,0009= 32,387
vl 3 s A 71 90,000
W - fFold 2T TS - BAFA - F2%Y - gudAee
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7|88 AlE4E WA
ARty B = AR S A S R (k] - xd9)
= o)
gopzg 22| B3| 2% Aol %A REXE 20234 (A) | 2022d(B) | F7HA-B)
D F24 5,663
H 29 620-03 |3,708,00091= 3,708
) A 620-10 |1,955,0009= 1,955
2) 25sw 620—03 |33,575,0009= 33,575
3) T 23,742
7H 9 620-03 |7,443,0009= 7,443
wh) AHY 620-10 16,299,0009= 16,299
4) 317538kl 27,020
7H 9 620-03 [15,822,0009 = 15,822
) A 620—10 |11,198,000¢= 11,198
4, By FALH S AN 26,950 26,950 0
7F FA 2] 620—03 |2,450,0009 x11t]= 26,950
stuFA A MNA 250,390 106,591 143,799
1. S gA 7| FUA A EgE 250,390 106,591 143,799
7V =3 FA 7 T2 A 232,390
1) 253w 620-04 |111,003,0009 = 111,003
2) Z&u 18,849
7H 39 620—04 |1,450,000¢= 1,450
) A 620-11 17,399,0009= 17,399
3) 15 102,538
7H 9 620-04 | 34,220,00091= 34,220
) A 620-11 68,318,0009= 68,318
L w2 A A A st 18,000
1) P28 dHENA] FA 18,000
7H AZdH] 620—03 |15,000,0009 = 15,000
) 7] o] AH) 620-03 |3,000,0009= 3,000
3+ A A R LB 15,099,865 14,732,509 367,356
iR e PO 6,837,803 6,620,056 217,747
w2 gH| XY 6,837,803 6,620,056 217,747
1. w7824 6,627,803 6,564,056 63,747
7F 8-x9 620—02 |883,915,000¢ = 883,915
L x5 3y 620-02 | 4,242,950,00091= 4,242,950
B - folREF SRS - SuAYALRY - SFaLPuAY - STEIn A9
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18 AEZHEY A
719 AR et S A A% (9 -
Z [e) 1=}
woipy B3| T3 | 0T Aol %A ENE 20234 (A) | 2022d(B) | F7HA-B)
o}, =38ty 620—02 |1,500,938,000¢1= 1,500,938
2. 7| ele-gn| A Y 210,000 56,000 154,000
7h wEtE e Al 170,000
1) &3¢ 620-04 |4,047,0009= 4,047
2) 258kl 620-04 |85,013,0009= 85,013
3) =g 620-04 52,611,0009= 52,611
4) 358kl 620-04 |28,329,0009= 28,329
L. wshg o Az 40,000
1) =58 620—04 |40,000,000¢1= 40,000
A}8HA) A ] 8,262,062 8,112,453 149,609
QA AAATR Y 7,007,445 6,645,978 361,467
1. QA8 AR AT R ZE 7,007,445 6,645,978 361,467
7k el An| A Y 620-08 7,007,445,0009= 7,007,445
SGu AR AR Y 1,254,617 1,466,475 A211,858
1. Y9 AAASTRZ 1,145,771 1,246,443 A100,672
7}, & 7] 281 620-09 [1,145,771,000€= 1,145,771
2. A st a7 el g v x| & 108,846 220,032 A111,186
7}, s AANA 108,846
1) =8 u 620-11 55,896,000¢= 55,896
2) 15 stw 620—11 |52,950,000¢= 52,950
St@ A A ANA 23,481,609 19,949,495 3,532,114
St A A A A 23,481,609 19,949,495 3,532,114
Sy A E = 10,169,194 5,376,260 4,792,934
Az 10,156,144 5,376,260 4,779,884
7F 7P e 2 B g SAE 9,624,552
1) A4 420-03 9,457,991,000¢ X 14 = 9,457,991
2) 7+ H) 420-04 |155,565,00090 X 14]= 155,565
3) AR n) 420-05 10,996,00049 x 14] = 10,996
LR e = s A o 531,592
1) A AN 420-02 |498,162,00049l X 5.9854%= 29,817
2) Al 498,162
7hH 2B wANE 420-03 |179,430,0009 x 24 = 358,860
WG - frotd 2T ug - FuAEAANA - FuA N - Furd L
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)
Abgiu <} A5 AEU S 20239 (A) | 20224 (B) (A-B)

W A== 420-03 |165,540,000€1 X 0.84154 = 139,302
3) AR n] 420-05 |498,162,0009 X0.7252%= 3,613

2. =FANAEEHA 13,050 13,050
7F. WA R &2 Al A 01 A 13,050
1) A1AH] 13,050
7h) 22 A A A 420-03 |158,00091 X59.28m'= 9,367
W) FaEA 420-03 [158,0009 x23.31m'= 3,683

IAEEAZANA 13,312,415 14,573,235 21,260,820

1. ZAFRSA 2,121,207 11,174,123 29,052,916
7}, v 344,782
1) A1AH] 342,010
7hH AEZ (A 420-03 |11,230,0009 x 54 = 56,150
W) 512 (ESA 420-03 |11,230,0009 x 221 = 22,460
th 52 % (9)H) 420-03 |5,275,0009 X 154 = 79,125
) W& % (LA 420-03 |11,230,0009 x 241 = 22,460
ul) WARE (9] H k) 420-03 |5,275,0009 x 324 = 15,825
uh) AldE (A 420-03 |11,230,0009 x 44 = 44,920
AP AT (5 420-03 11,230,000 x 94 = 101,070
2) A2 420-05 |342,010,0009 X0.8105%= 2,772
L vlgH 281,843
1) A 420-02 |261,760,0009 X 6.952%= 18,198
2) AlAdn] 261,760
7H $49x 420—03 [20,830,0009 X 64 = 124,980
W) EXx 420-03 |20,830,0009 x 421 = 83,320
o FEx 42003 |26,730,0009 x 24 = 53,460
3) A|AEfH] 420-05 [261,760,0009) X0.72%= 1,885
o} o F-A 5 w A 159,645
1) A1AH] 159,645
7hH WAL (537 420-03 |2,770,00091 x 114 = 30,470
) miAbZ (2915 420-03 |3,840,0009 x 114 = 42,240
oh) FekA Y 3 (F7H) 420-03 |2,770,000€ X 20.54 = 56,785
Zh) FokA A 7 (&) 420-03 |2,010,0009 X 154 = 30,150

|27 -

SN - A EEE A
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7|8 AlEZ5 UG A
7187 YRR G nSA 9 (¢ - )
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
gt A 1,334,937
1) A7 420-02 |1,294,254,0009 X 2.5715%= 33,282
2) Al/dn] 1,294,524
7H EAZ 420-03 |107,650,0009 x 12 = 107,650
) WAkE 420-03 |10,000,0009 x 54 = 50,000
oh) ik 420-03 114,199,000 x 14 = 114,199
2h) A% 420-03 |107,650,0009 x 1,54 = 161,475
uh) FXEX 420-03 |107,650,000¢ x 24 = 215,300
v} WA 420-03 107,650,000 x 64 = 645,900
3) Al F-of 8] 420-05 |1,294,254,0004 X 0.551%= 7,131
2. FFAIAMNA 74,200 0 74,200
7F w3 A () 74,200
1) A1AH] 74,200
7 F<ta 420-03 212,000 X 350m= 74,200
3. AR AN 108,867 277,200 A168,333
7 B 108,867
1) AAn] 420-02 199,400,000¢ X 8.7%= 8,648
2) Al/dn] 99,400
7hH =z 420-03 |8,020,000¢ x 74 = 54,860
W) SEx(1dexA) 420-03 |31,000,0009 x12= 31,000
h A8 (F7e=843) 420-03 |6,770,0009 x 2t = 13,540
3) Al H-tf 8] 420-05 |99,400,00091 X 0.823%= 819
4. ZRAAENA 168,814 0 168,814
A e M R 168,814
1) AAn] 420-02 |159,605,0009 X 4.9767%= 7,943
2) Al/dn] 159,605
7hH Fdx 420-03 1,370,000 x 384 = 52,060
) WEx 420-03 [1,370,0009 x 26.52 = 36,305
o) WAz 420-03 |1,370,0009 x 524 = 71,240
3) Al F-on] 420-05 |159,605,0009 X 0.793%= 1,266
5. Al RFAANA 3,083,662 1,887,088 1,196,574
7t A 20,904
WL - FolREFERS — StaA AN — SaAEAA - taAlH e
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= [$) H
HopF & f}% ?};3 fg Akd i o A5 Az 20239(A) | 2022 (B)
1) A1AH] 20,904
7h SR %(1,654m") 420-01 |4,0009 x1,654m'= 6,616
W) #X%(339m) 420-01 [4,0009 x339m'= 1,356
t}) =X %(856m) 420-01 |4,0009 X 856m'= 3,424
2h) etz (684m) 420-01 |4,0009 % 684m'= 2,736
nh) 9 x=11(1,423m) 420-01 |4,0009 x1,423m'= 5,692
Hh) F-QFA Y 37 (270m’) 420-01 |4,0009 % 270m'= 1,080
15 SRR AN RA Y 482,200
1) WA sH 7t 79,600
7h WMARE (270% 3,064 m") 420-01 |79,600,0009 X 14 = 79.600
2) W B 7FE AL 402,600
7h) A AN 37,600
(1) &x1%(1,654m) 420-01 119,840,0009 x 14 = 19,840
(2) X A% 2231(1,480m) 420-01 |17,760,0009 x 12 = 17,760
) AlAdn] 365,000
(1) A %(1,654m) 420-03 |180,000,0009 x 121 = 180,000
(2) Z2EAZE2E3(1,480m) 420-03 |185,000,0009 x 121 = 185,000
o A () WA 343,405
1) A7) 420-02 330,317,000€) X 3.2365%= 10,691
2) Al/dn] 330,318
7h) WAz 420-03 |15,289,0009 x 1.54 = 22,934
) oAl 420-03 [26,729,0009 x11.52= 307,384
3) AR 420-05 |330,317,000€ X 0.7253%= 2,396
2t Eefo] | E A 1,963,413
1) A A 420-02 [1,910,474,0009 X 2.387%= 45,603
2) Al/dn] 1,910,474
7V AXZ(AHALE) 420-03 |21,466,000€ x 741 = 150,262
) B2 % (RE) 420-03 |21,466,0009 x 1221 = 257,592
oh) MEX(EDE) 420-03 21,466,000 X 204 = 429,320
o) WHARE (E3E) 420-03 [21,466,0009 x 234 = 493,718
vh A (23E 74D 420-03 21,466,000 X274 = 579,582
3) At 420-05 |1,910,474,0009 X 0.384%= 7,336
W - folUEFF WS — StA AN — AN - SuABF A
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71eE AEZE A
713y AgE e Rt S Y (k9] : x4
2 o) 1=
of BB 32 ?};3 fg NENE o= RENE 20239 (A) | 2022d(B) | Z%(A-B)
Lo S L B s R e | 214,660
1) A4 214,660
7h) @Ak (%) 420-03 |21,466,0009 x 102 = 214,660
vh, QFA (Al Wik 5,880
1) A]An] 5,880
H EA%x 420-03 |147,0009 X 40m= 5,880
Ab. A3 A R A A 53,200
1) AAn) 53,200
7hH TR E (G ohE A ) 420-03 |1,900,000¢] X 282 = 53,200
6. FEHMA 672,274 562,523 109,751
7F ddE= 57,600
1) A]AdH] 57,600
H A% 420-03 1,920,0009 X 30m= 57,600
U ¥ 250,305
1) AAm] 420-02 |231,824,0009 X 7.252%= 16,812
2) A]Adn) 231,824
7H) WAz 420-03 |72,0009 X 430m'= 30,960
W) X% 420-03 |72,0009 X537 m'= 38,664
) Fxx 420-03 |96,000¢ X 1,300m'= 124,800
b = 420-03 |72,0009 X 200m'= 14,400
ub) sk FE 420-03 |22,000€ X 260 = 5,720
Hp) FokA el 31 420-03 |72,0009 X 240m'= 17,280
3) AR n] 420-05 231,824,0009] X0.72%= 1,669
o} W= 124,740
1) AAn] 124,740
7H $49x 420-03 [378,0009 X 80m= 30,240
W) =Xz 420-03 |378,000¢ X 250m= 94,500
g}, g% 193,629
1) A]AdH] 193,629
7 Ferd = 420-03 [381,0009 X 65m= 24,765
) sk = 420-03 |381,000€ X 80m= 30,480
) Z=ZAE22 420-03 |558,000¢ X 248m= 138,384

W - foluEF

28 - AN - FEARAL - SFaAHBAAA
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7138 e Rk S #] 9 (sk9] @ H9))
| o i=]
woipy B3| T3 | 0T Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
vh, Gl A (£ 9)) 46,000
1) A1AH] 46,000
7hH WAk 420-03 |200,0009 X 230m= 46,000
7. A7INAAA 140,520 185,349 A44,829
7} =" Al (LED) 104,880
1) A1AH] 104,880
7hH Febdx 420-03 12,760,0009 x 154 = 41,400
W 1z 420-03 12,760,0009 x 1241 = 33,120
o) X% 420-03 |2,760,0009 x 114 = 30,360
. A7 g5 35,640
1) AlAdH] 35,640
7hH A% 420-03 [1,320,000¢ X 27kw= 35,640
8. AANUANETFFEF 93,390 0 93,390
7h A UAE S W A 93,390
1) F<tsx 620—04 |71,005,0009 x 14 = 71,005
2) Hotx 620-04 [6,215,0009 x12]= 6,215
3) Az 620-04 [2,200,0009 X124 = 2.200
4) HALE 620—04 |2,600,0009 x 14 = 2,600
5) A= 620—04 |1,900,000¢ x 14]= 1,900
6) =XAETAT L 620—-04 9,470,000 x 14 = 9,470
9. AN 226,306 314,319 288,013
7t s ) 226,306
1) A A 420-02 |209,160,0009 X 7.478%= 15,640
2) Al7dn] 209,160
7 WAk 420-03 104,580,000 X 224 = 209,160
3) Al E b 420—05 |209,160,000¢ xX0.72%= 1,506
10. AR SA (AHR) 2,336,652 67,860 2,268,792
7h, Q) H-Z 5 A 499,165
1) A1AH] 499,165
OB 62011 |25,810,0009 x 132 = 335,530
W = EET) 620—11 |2,770,0009 x31.54 = 87,255
h YFEEF(EYE) 620—11 [2,010,000¢ x 382 = 76,380
AE - follxFeud — StuAdAANA — SwAENA - SurdEF A
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k5157 93 (<ks] W9
o I NERTE = SENL 20239 (A) | 20224(B) | 274 (A-B)
It 360,855
1) A]AdH] 360,855
b EEE 620—11 [26,730,0009 x13.54= 360,855
of wAg Edey 215,300
1) A]An] 215,300
H FFEE 620-11 |107,650,0009 x 24 = 215,300
2k 714 Abe e 1,261,332
1) A1dH) 1,261,332
7 Ak 620—11 2,473,0009x510.041m'= 1,261,332
11. YA A AA (AH) 100,250 0 100,250
7}, W) 100,250
1) AldH) 100,250
71 WAL= 620—11 |8,020,0009 x12.54= 100,250
12. A AR ANA (A 350,000 0 350,000
7} R 17k 350,000
1) AlAdH) 350,000
H FFEE 620—11 | 350,000,000 x 14 = 350,000
13. ¥4 (A1) 56,750 0 56,750
7. G 56,750
1) A]An] 56,750
7H AdE 620—11 |381,00091 X 148.95m= 56,750
14. A7 A 2 H (AF) 40,000 0 40,000
7k A4 40,000
1) AJAn] 40,000
7H) WA= 620—11 40,000,0009 x 14] = 40,000
15. FAFAAERSTF (A1) 30,045 0 30,045
7y AR LA A 30,045
1) WAL= 620—11 |17,045,0009 x 14] = 17,045
2) A= 620—11 |13,000,0009 x14] = 13,000
16. A4 (AHE) 418,320 104,773 313,547
7}, A A 418,320
1) A|AH] 418,320

St Al AN - St A AN - St Al S A
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Abgiu <} A5 AEU S 20239 (A) | 2022d(B) | SH(A-B)
7H FFE= 620-11 |104,580,000¢) x 24 = 209,160
) AAbA S 620—11 |104,580,000¢9 x 24 = 209,160
17. J9AFIEAS 3,291,158 0 3,291,158
b AxXzesHdsNE 742,788
1) A]dn) 420-03 742,788,000 X 14 = 742,788
L Stz EAsE 1,533,255
1) AJAH] 420-03 |1,533,255,0009 x12]= 1,533,255
o Pty by Ree 1,015,115
1) A4 420-03 [1,015,115,0009 x 1= 1,015,115
kA 1,321,010 3,718,590 22,397,580
EPPAnt 897,166 3,320,979 272,423,813
% 10,030 10,030 0
18 &2 8,210 3,700 4,510
1. FgFAZTEFA 8,210 3,700 4,510
7h Qb gAY 3 6,710
1) $ojgx 210-01 |50,0009 X 10%= 500
2) A5 2+ 210-01 |30,0009 X 207 %= 6,210
U FogTFAdurt 210-01 |15,000€ X505 x 23] = 1,500
H] 3] A 823 1,820 1,820 0
1. v die Al gL Bt #g 1,040 1,040 0
7h Al g qbd gk E 1,040
1) £98% 210-01 |50,0009 x 4% = 200
2) WEHAY] 210-01 |70,0009 X 1274= 840
2. SAHFAF 780 780 0
7F 9= 210-01 50,0009 x 6% = 300
. 7HAn) 230—02 |3,00091 X407 x 48] = 480
A E 4,932 4,932 0
4,932 4,932 0
1. ALAZA 2,100 2,100 0
7}, AE A = 210-01 |6,0009 X 2% X 60%= 720
o A A S 210-06 40,0009 x 6% x 28] = 480
o}, ZHALE =) 250—04 |5,000¢ x 3% x603]= 900

AP EE] - AR
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7188 AlE4E5WAA
718 AR Rt A A (el - A4
A [e) =]
Bopnm 3% ?}g jg Ape el B A& 20239 (A) | 2022d(B) | =7(A-B)
2. FAEA R A 2 4733} 2,832 2,832 0
7F A H st 1,020
1) e Az 210-01 |6,0009 x50%- % 23] = 600
2) 393 230-02 |15,00091 % 14 x 23] = 420
A 1.812
1) £98F 21001 |50,00091 x 2% x 23] = 200
2) Az A= 210-01 |6,1009 x50%-x 23] = 610
3) AT (LD 750
71 7= 210-06 |160,0009 x 173 x 38]= 480
) =3} 210—06 90,0009 X1 x38]= 270
4) dis 210-06 |14,0009¢ % 31 X 2417k x 38] = 252
718971 22 B 2,828 2,828 0
R P e 1,828 1,828 0
L 25471 dg71da4d% 1,828 1,828 0
7h wEA A7t 1828
D) A 74A & A 25 A4 2 628
7b) Ape A= 210-01 |6,280€ X 50% x 28] = 628
2) AAF 7 A3 1,200
b Ladex 21001 50,0004 x 7% x 23] = 700
(BYREIPSERS 210-06 |100,00091x 17 x23]= 200
t}h) & o3 23002 |15,00091 %10 x 23] = 300
DAMAGER Y 1,000 1,000 0
1. 28383 A= 3) 1,000 1,000 0
7} =AY 210-01 |20,0009 X509 = 1,000
AR B B R A B PR R BN 9,129 4,419 4,710
AESPAABAAEHNES 4,419 4,419 0
PRRES E S X 4,419 4,419 0
7} AR IS 3,000
1) AALZHPCS g 210—15 [100,0009 X 10% x 338]= 3,000
BRI RS 1,419
‘ 1) H/WEA x5 210—-09 |17,735,0009 X 8% = 1,419
&P 7) S EH 4,710 0 4,710
W - EAN - REPPAN - DG YYRIANY YA 2 - D5HY7)SE R
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e AEZE A
719 - AeE Rt m 479y (ko] - 2 <)
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
L7 EEREEATE 4,710 0 4,710
7h 7158 4,300
1) HEQE 210-01 |100,0009 X 10%= 1,000
2) 7= 7|8 & 210-01 |1,500,0009 % 13]= 1,500
3) 71447 430-01 |500,0009 x 1dj= 500
4) HFE A 430-01 |1,050,0009 x 1¢]= 1,050
5) AR YE 430-01 |250,0009 x 1tj= 250
W SEd e A LS 105
1) 7+4n) 230-02 |3,0004¢ %357 = 105
o 715587k 9 8 305
1) Zalz=cp 210-06 |100,0009 x 2 = 200
2) 893 230-02 |15,0009 x 7% = 105
R PEPYEEy 1,635 1,335 300
oAt 1,635 1,335 300
1. 53 A A AHGF 1,635 1,335 300
7}, 22 A 2 210-01 16,0009 X 60%= 960
L}, &9 3 230-02 |15,0009 X 157 x 33]= 675
A 72 141,812 2,382,867 22,241,055
TEANYEZ 7 141,812 2,382,867 £2,241,055
 ZZ AT 7,460 7,460 0
7} AP L S SR 210-01 |500,0009 x 108]= 5,000
U 28 A 2] o) 8] 2 A 210-06 |100,0009 X 47 x 38 = 1,200
t}. & o] 3] 230-02 |15,0009 x 127 x 38] = 540
2}, ¥ A S5 250—-04 |60,0009 x 17 x 129 = 720
2. W AT 43,000 2,258,215 22,215,215
7}, ¥ w3 210-09 |3,200,0009 x 57} it.= 16,000
L e g 27,000
1) &94] 10,800
N eALE 210-01 |50,0009 X 30% x 28] = 3,000
L) A A EERE 210-01 |600,000¢1 x 103]= 6,000
th) Hola 430-01 |450,0009 x 37} = 1,350
al) o)A} 430-01 |150,0009 X 37} = 450
WS - HFAT - wSFYA - AT - FHANLEE T
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719 AR et S A A% (k9] - d4d
popng 3% | WA | AR AR B A= AE Y 20234 (8) | 2022 (B) | £7%(A-B)
I I A
2) A A 12,300
7h A== 210-09 |2,500,000¢ x 28] = 5,000
W) AFRSA 210-09 |500,0009 % 43] = 2,000
t}) F-ol7H] 210-13 |200,0009 %129 = 2,400
2b) 2urelA 7 210—-13 |100,0009 x 12¢= 1,200
uh) A7) 210-13 |100,0009 %129 = 1,200
vp) Hped A= 210-13 |100,00091 x 53] = 500
3) FF 8w HAA 3,900
7h A7 e 210-02 |100,0009 x12¥= 1,200
) Asle 210-02 |35,0009 x 129 = 420
) Ao = 210-02 90,0009 x 129 = 1,080
2 2713447138 210-09 |50,0009 x 129 = 600
vl A7) 210-09 |50,0009x12¢¥= 600
S S I R 39,635 91,825 252,190
7h. A 27 HHE e 39,635
1) 1S3 210-13 |220,0009 %129 = 2,640
2) £x4 620—-03 |6,915,0009 = 6,915
3) 258w 620-03 |15,260,000¢ = 15,260
4) Z& 620—-03 |14,820,0009= 14,820
4. +E50TY 23,000 0 23,000
7}, #H 1w 210-01 |14,000,0009= 14,000
L =58 620-03 |4,000,0009= 4,000
o} Fskw 620-03 |5,000,0009= 5,000
5. SATA A TA 3] 1] 28,717 25,367 3,350
7}, w2 A A A 3] H) 210-02 |28,717,0009= 28,717
Sl 2] A & 591,996 786,124 £194,128
e x| A & & 511,996 786,124 £~274,128
1. 2 Ax Y 362,094 656,817 £294,723
7h B Aok w g 1,000
1) $98=% 210-01 |26,6009 x10% x 28] = 532
2) Ak (g 300
7hH 71E 210—06 |100,000¢1 x 17 x23]= 200
STA AL Bt — S| A F — Sgul ] A 2 e 38




18 AEZHEY A
)
A S E=A= 2= < 20239 (A) | 20229 (B) (A-B)
) z3t 210-06 50,0009 x 17 x 23| = 100
3) dug 210-06 14,0009 x 3vll X 24| 7k x 28] = 168
U Eohe 4| 169,102
1) 529 620-03 | 15,496,0009= 15,496
2) 2538w 620—03 |153,606,0009= 153,606
oh AW AA A= 210-07 185,992,0009= 185,992
2} 42 A ) 110-03 |120,000€9 X503 = 6,000
2. SAZE= Y 148,172 128,107 20,065
7}, &h<n) 20,000
1) A 310-01 400,000€ x5 x10¥= 20,000
B2 PAREI PR 620-03 128,172,0009= 128,172
3. X GFEFA 1,730 1,200 530
7h A3 LT T A 1,730
1) $99% 210-01 50,0009 X 4% x 23] = 400
2) A 5) 210-06 | 100,000¢ x5 X 23] = 1,000
3) 893 230-02 15,0009 X117 x 23] = 330
23 uSA 80,000 0 80,000
1. ARG uSHA L 80,000 0 80,000
7 BB A A 80,000
1) MHEx 620-03 | 40,000,0009= 40,000
2) A= 620-03 | 40,000,0009= 40,000
14,459 11,322 3,137
Fu g 3 10,874 7,902 2,972
1. 8 ugd9 s Aa 5,710 2,740 2,970
7h S aed el dAdr 5710
1) 299 210-01 50,0009 X 10% X 23] = 1,000
2) A=A 2 210-01 16,9609 X 100%x 23] = 1,392
3) 7k (YR 500
b 75 210—06 |160,0009 X 17 x 23] = 320
) =3 210-06 90,0009 x 17 x 23] = 180
4) 98 210—06 |14,000€ X 37} X 2A1 7k x 23] = 168
5) 93 230-02 15,0009 x 307 = 450
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718 AEdEHIA
7137 A Rt X 9 (&9l - 2
BopHu ﬁf‘j ?}2 ﬂ?j JARSIE TS 2o Az o] 2023d(A) | 2022d(B) | ZZ(A-B)
6) 24 310-01 |8,0004¢ X100 x 23 = 1,600
7) 72 310-01 |3,0009x 100 x 28] = 600
2. 13t 7ol FA 3R Y 5,164 5,162 2
7b SR EATYE A 5,164
1) ¢98% 210-01 |50,000€l X 20% x 23] = 2,000
92) A A= 210-01 |7,50041 X 40%-x 23] = 600
3) Ak (L) 1,500
74 7] 210-06 |160,00091 x 174 x 63] = 960
W) =3 210-06 |90,000¢ x 19 x 63] = 540
4) ZAAFAH] 7] 210-06 |20,000€9 x 1 x68] = 120
5 1% 210-06 |14,0009 x 3v] x 2A]3Fx 6:3] = 504
6) 1] 310-01 |8,0009 x 409 = 320
7) 7+211) 310-01 |3,0009 x 409 = 120
FTACR: = RuRe) 3,585 3,420 165
1. 2P YA Qa3 2,200 2,200 0
7h A EAME 2 2,200
1) $oggx 210-01 |50,0009 x 8% x 23] = 800
2) %Mq¢% 210-06 |100,00091 x 77 x 23] = 1,400
2. 893 wsFgEx g 1,385 1,220 165
7b 59 E‘W?jér%_ 1,385
1) $og= 210-01 50,0009 x 2% = 100
2) AE A = 210-01 |11,000€l X 35%= 385
3) §93 230-02 |15,00091 x 127 x 58] = 900
Al AL & 120,345 117,122 3,223
AN RAAIE 49 120,345 117,122 3,223
1. NAAFG A= D 120,345 117,122 3,223
7}, st /\] SR U] 120,345
1) 2% 210-09 |102,244,0009 x 12 = 102,244
2) lﬁ@%a%g 210-13 |17,232,00091 X 14 = 17,232
3) Al AR n] 420-05 |869,00091= 869
71 #H$e-9 423,844 397,611 26,233
71 B 413,644 387,411 26,233
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ESEE A
o Al %A SENE 20239(A) | 20224 (B) (A-B)
71 &7 B84 H] 413,644 387,411 26,233
1. 7| B T30 32,780 30,440 2,340
7F. 7187 E-8-¢ 7 1) 32,780
1) 71 BAA WG 250-02 |400,0009 %124 = 4,800
2) 7138 FE =11 230-01 |23,100,000¢ = 23,100
3) A7k L 3=7n) 230-03 80,0009 x61% = 4,880
2. A 7|22 7| 150,468 144,820 5,648
7}, w SR A7} 64,440
1) YRE-4gn] 7,856
7hH B 210-01 |1,200,0009= 1,200
) el 210-01 |416,0009 X 16 = 6,656
2) ELu2n] 210-05 |8,00091 x 16 x433]= 5,504
3) Idofn] 42,560
7H 220-01 20,0009 x 16 X503 = 16,000
W =Y 220-01 |40,0009 X167 x313]= 19,840
) 9] 220-01 70,000€ X167 X 63]= 6,720
4) A7 4,920
7h FAe 210-15 |400,0009 x12¢¥= 4,800
W) FI7HE 210—-15 |5,0009 x29 x12¥= 120
5) AAFHFF AN 250—02 |100,0009x12¢¥= 1,200
6) S8 AF2H] 2,400
7H J“gﬂrr st Ed Y 250—03 60,0009 %1% x129= 720
W) st (ﬂrr% 250—03 80,0009 x 1% x129= 960
th) SurA (IS 250—03 |60,0009 X1 x12¢¥= 720
U, 3= 86,028
1) YRE-4gn] 12,432
7H B4 210—-01 |1,200,000¢= 1,200
) el 210-01 |416,0009 x 279 = 11,232
2) Eu 2] 210-05 18,0009 x 277 x313]= 6,696
3) Idofn] 50,220
7H Z 220—01 |20,00090 X 27 X 363] = 19,440
W =Y 220-01 |40,0009 X277 x 183]= 19,440

— 7|22 gH - 718722 g
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18 AEZHEY A
713 AR et A4 9% (2]« 79
2] =0 [$) H
Ropn j;‘ ?};3 fg PRSI CRE RERETS 20233 (A) | 20224(B) | Z7H(A-B)
) 9] 220-01 70,0009 X 277 X 63 = 11,340
4) F-x-8-o AN 210-15 |400,0009 x129= 4,800
5) ;G R =8 AN 250-02 |100,0009 x129= 1,200
6) S0 10,680
b AR 250—03 80,0009 x 274 x12¥= 1,920
) g x gt 250—-03 | 100,0009 X174 x12¥= 1,200
) e a4 250-03 |150,0009 x 3% x 129 = 5,400
) IAGTTEY 250-03 60,0009 x 3% x12¥8= 2,160
3. 71 F-89AH) 196,760 179,499 17,261
7t FE 8T YLAA 62,005
1) 22548 210-01 |201,2509 x43]= 805
2) A7 e F 210-02 2,800,0009 x12¥ = 33,600
3) dstew 210-02 |1,050,0009 x 12¢= 12,600
4) Q1 YIZE AN 210-02 |400,0009 x124= 4,800
5) At r Qe 210-02 |320,0009 x129= 3,840
6) THow 210-02 (80,0009 x 129 = 960
7) TA T ) 210-02 |450,0009 x129= 5,400
. J A g 61,788
1) HAFSA K= 210-09 3,024,0009 x 129 = 36,288
2) BAFGA K 210-09 |200,0009 x 354 = 7,000
3) TALEANA 210-09 |100,000€ X354 = 3,500
4) FHAFA 21) 210-13 |500,0009 X 2% = 1,000
5) viebgl el ) 3 A el 210-13 3,000,000¢ x 23] = 6,000
6) HAALEQLA 210-13 600,0009 X 53] = 3,000
7) SR7 TR AA-UAXA 430-01 [5,000,000€ x 14 = 5,000
o}, A ] f A 2R 19,136
1) 4713y 210-09 |667,0009 x124= 8,004
2) v &g 210-09 30,0009 x 40t = 1,200
3) AHFAI A G2 B 2= 210-13 |160,0009 x124= 1,920
4) A7)t 2] o) 3 210—13 [121,0009 x12¢¥= 1,452
5) A7 A B 210-13 [210,0009x12¢¥= 2,520
6) 3ZTANESFA B 210-13 500,00049 x 43] = 2,000
W - AFA - 7 HRd - VS - 78S g
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A S E=A= AEUS 20239 (A) | 20229 (B) (A-B)

7) AFJ ot A B A SR K 210—13 170,000 x129= 2,040
o}, A e 3,600
1) FolAngd 210—13 |300,0009x129= 3,600
vl B2 19,375
1) 3854 (25,000kme]4) 210-10 9,135,000 x 1dj= 9,135
2) ¥ 53 (10,000kmol”d) 210-10 110,048,000 x 1= 10,048
3) WL E 210-02 |16,0009x12¢9= 192
vl ARk 7 vl 5,676
1) FPEILE 210-01 |17,0009 x19%x129= 3,876
2) ¥]En) 210-03 |300,0009 x 67 = 1,800
Ab ARSI 25,180
1) A 430-01 900,000 x 27} = 1,800
2) BN 430-01 |600,0009 x 27}= 1,200
3) 430-01 |420,0009 % 17)= 420
4) o2 430-01 |300,000¢ % 17]= 300
5) 3]l g-Eerxt 430-01 |550,000¢ x 87} = 4,400
6) I e} 430—01 |400,000¢ x 47)= 1,600
7) oA} 430-01 |340,0009 x 27} = 680
8) 78 430—-01 |480,000€9 x67]= 2,880
9) “E& 430-01 1,400,0009 x 3¢} = 4,200
10) AFE EH) 430-01 |1,050,000¢ x 4t} = 4,200
11) 9A R E 430-01 |250,0009 x 4tj= 1,000
12) WX g AE 430-01 |2,500,000¢ % 1t}= 2,500

4, 7| EpA | 224 33,636 32,652 984
7}, A Eopd A9 33,636
D FF sl 10584
7hH A7) e 210-02 |700,000¢ X 12 8,400
BB x%@p;} 210-02 \)O,OOO%X12E= 600
) Ao 210-02 |100,0009 x 128= 1,200
2}) A 37 7 A 5 210-02 |56,0009 x 13| = 56
o)) )AL 210-02 |15,0009 %10t x 129 = 1,800
v A7)tAd A AS 210-13 [90,0009¥ x12€= 1,080

43




44

SRS R R )
o A% Abd ] < A5 AEU 202349 (A) | 2022€(B) (A-B)
A A B T e - -

AP AHIAIE R AS 210-13 88,0009 x 129 = 1,056

ob) A7 A K 210—15 [116,0009x12¢¥= 1,392

2) Aok AGA RS 210-09 |585,0009 x129= 7,020

3) A g 8,160

7h AT 210—-06 [60,00091 1004 = 6,000

) FolAn g 210-13 |180,000¢1 x124= 2,160

4) A En 210-08 |1,6199 x8AIZkx 90U x 2t = 2,332

5) oJH] 220-01 |20,0009 x 17 x 273]= 040
5P F 7 FAA 10,200 10,200 0
71 BA 8 S2 BE 10,200 10,200 0
1. 2 LA A 10,200 10,200 0

7. TALSR Za) 210-09 300,000€ x 344 th= 10,200
2,617,082 2,133,545 483,537
2,617,082 2,133,545 483,537
2,617,082 2,133,545 483,537
S22} 71 H] 2,617,082 2,133,545 483,537
NESFTER Y AN 2,617,082 2,133,545 483,537
1. S FA A 7H])#g 2,617,082 2,133,545 483,537

7}, WA AR 70 1,571,657

D 7185 110-04 |1,868,0009 x36W x12¢= 806,976

2) 2&5G 110-04 [582,29194 %369 x129= 251,550

3) 41 110-04 |140,0009 x 36 x12¥= 60,480

4) 7VE4S 110-04 (74,5459 %229 x 129 = 19,680

5) WAS/IR A 110-04 |700,0009 x 36 X 23] = 50,400

6) 714 110-04 |450,0009 X 36%4 x 23] = 32,400

7) A5G 110-04 |2,045,0109 X369 = 73,621

8) uk=3 H 2)n) 240-02 |655,55090 X367 = 23,600

9) §rAYF 320-12 12,973,2159 x 36 = 107,036

10) 4R 7| BRI+ 320-12 |35,773,5209 36 x11.33%= 145,914

. 78 Akl 7 m) 54,194

D 71¥5 110-04 |1,868,0009 X1 x129= 22,416

2) &5 110-04 |721,5009x 19 x12¢¥= 8,658

71EF — 13H] = 171 — ZEARJIAN] — WS HFA 1]




e B S NEEE == AEU| 20239 (A) | 20224 (B)
A | AR | AR B T e - -
3) F2IH] 110-04 |140,0009 X194 x12¢¥= 1,680
4) V5T 110-04 |101,6609 %1% x129= 1,220
5 WHEFIIRAT 110-04 |700,0009 x 17 x 23] = 1,400
6) 7)Ao 110-04 450,000 x 17 x 23] = 900
7) 2RI FTE 110-04 |156,1509 x 14 x40 = 6,246
8) Ao 110-04 [2,316,0009 x 1% = 2,316
9) =3 2 2]H) 240-02 |750,0009 x 1= 750
10) EdAH= 320—12 13,525,000 x 1= 3,525
11) 49237 d+ 320—12 [44,858,8009 x11.33%= 5,083
th - R3] A 21 7 v 48,600
D 715 110-04 (2,399,009 1% X109 = 23,994
2) +5TT 110-04 199,400 x 14 x 109 = 1,994
3) F4H) 110-04 | 140,0009 X148 x 10¥= 1,400
4) WAZIIR A E 110-04 700,000 x 17 x 23] = 1,400
5 LT 110-04 |117,930¢ x 11 X602 = 7,076
6) Axrot 110-04 |4,135,0009 x14= 4,135
7) 2k 28] 240-02 |750,0009 x 1= 750
8) HEAAHT 320-12 |3,703,0009 x 19 = 3,703
9) 4| LI 7| BRI 320-12 [36,610,7609 x11.33%= 4,148
oh ARFAFARRIZH] 39,548
1) 7185 110-04 2,024,0009 x 14 x 109 = 20,240
2) 4579 110-04 |577,5009 %1% x10¥= 5,775
3) F211] 110-04 |140,000¥ X1 x10¥= 1,400
4) YHAFIIRAT 110-04 |700,0009 x 1 x 23] = 1,400
5) ZI}LHFFIF 110-04 26,3609 X194 x60U= 1,582
6) AxFF 110-04 | 1,147,0009 x 19 = 1,147
7) ubE3 2 1)) 240-02 |550,0009 x 1% = 550
8) HAAZ = 320—-12 |4,040,0009 x 1% = 4,040
9) ARG 7| AR IGF 320—12 30,132,390 x11.33%= 3,414
ul, v kAN (LHH L) 25,282
D 715 110-04 |1,401,00090x 19 x 129 = 16,812
2) F2H) 110-04 |140,000€x 1% x12¢= 1,680
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At & LA & A= 20234 (A) | 20224 (B)

HAZIIR A 110-04 |700,0009 x 19 x 23] = 1,400

A 7)Ao 110-04 |150,0009 X 19 x 23] = 300
A=} 110-04 1,067,000 %1% = 1,067

Uk =3 B 2] 1) 240—02 |750,0009 x 1% = 750
R AYF 320—12 |1,800,0009 x 19 = 1,800
AR 7| AR F 320-12 |13,000,800¢ X 11.33%= 1,473
vk, v g1 zn] (&) 371,250
718 110-04 1,168,000 x 227 x 9@ = 231,264
=211] 110-04 |140,0009 x22% x99 = 27,720
WA TR A 110—-04 |700,0009 x 229 = 15,400

A 7)ol &+ 110—04 |150,0009 %229 = 3,300
Azl 110-04 |510,0009 x 229 = 11,220

Uk 23] B 7] 1) 240-02 |670,0009 x 227 = 14,740
HAHY = 320—12 |1,600,0009 x 229 = 35,200
AR 7| ARG 320—12 [13,000,8009 x 229 X 11.33%= 32,406

B AR A AR 2 H] 382,101
ARs =1 110-04 |934,00091 X219 x10€ = 196,140
& 110-04 |216,1709 %2149 x10¥= 45,396
214 110—-04 |140,0009 X214 X109 = 29,400
NS 110—04 [62,8579x 149 <109 = 8,800
HAETIRAF 110—04 |700,0009 %2194 = 14,700

A 7| o] =+ 110-04 |225,0009x219= 4,725
Az 110-04 |767,0009 x 19 = 767
k=3 B 7)1 240-02 |673,8099 %217 = 14,150

9) §rAYZ 320—12 [1,630,57194x219= 34,242
10) 4| R 7 BRI+ 320—12 [14,197,8709 %2194 x11.33%= 33,781
oF. Wee AlE] A EAl ghabel A v 124,450
AR 110-04 |2,068,00091 x 3 x 129 = 74,448
& 110-04 |170,08091 %39 x129= 6,123
244 110-04 |140,0009 x 39 x 129 = 5,040
TNESY 110-04 |50,00090 %29 x129= 1,200
HAETIR A 110—04 |700,000€ x 37 x 23] = 4,200

7)e} — Ql7in] — Qlgin] — 2RARIAN] - 1
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poppm| A | EA | AR Al = S 202349 (A) | 20224 (B)
RUN T A]—Cﬁ A]—Cﬂ /\]—(ﬁ = = = = = i L

6) A7) AFo] = 110-04 |450,0009 x 3% x 23] = 2,700

7) 2 Fu 110-04 |15,000€ X 3% x 60 7k= 2,700

8) Ax}=t 110-04 1,333,0009 x 3% = 3,999

9) &Y HAH] 240-02 |750,0009 x 37 = 2,250

10) BA4H+ 320-12 |3,409,0009 x 39 = 10,227

1) 49537 AR I+ 320-12 [34,018,3309 x3™ x11.33%= 11,563
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